Question Paper Title : FG_10

Date of Exam : 14-06-2019 02:30 PM

Reference 1D:(22825) SR § 3MMg '+ 3N @ 3R '—', TR WIciaus! Faid dgM Uafd hIurdT Mg 2

A15@22$65@42@62$ 103 @ 45 @ 27
B18@17$25@32$26@ 104 $ 44 $ 37
C19@12$165@42 @36 @ 103 @45 @ 17

D38 @ 107 $25$32$26@ 104 $44 $ 37

Answer: C19@12$165@42 @36 @ 103 @45 @ 17

Reference 1D:(32920) HATBR] sl fHie’ HRATT Il ITTdTd TR 318 ?

A. 3718 TSR
BT UGX
C. SR U
D.Uf3H s

Answer: A.3MTY TR

Reference ID:(16893) 12/20 + 1.5 - 5/40 = ?

A.1.225

B.2.7



C.1.975

D.1.175

Answer: C.1.975

Reference 1D:(30613) Pick the correct meaning of the highlighted idiom: He is not fit to hold a candle to
his brother.

A.Not a fit and healthy person
B.Be a strong willed person
C.Not be comparable with

D.To be mentally unstable

Answer: C.Not be comparable with

Reference 1D:(28381) Find the meaning of the highlighted word in the sentence: She's a pretty feisty kid,
isn't she?

A.Cowardly
B.Dull
C.Bubbly

D.Timid

Answer: C.Bubbly

Reference ID:(25186) "SHTCIR" T Ya Wit g Wef fae sfieswr.



ASITd + 4R
B.SIT + 4R
C.SIT + 'sp’d?

DS + 38R

Answer: C.olld + 'sC%R

Reference ID:(22571) Welidue! gafd T8 Uaid wIvrar 3ig 2

AS5-11+75-42+62+13-45-27
B.118-17 +25-32+ 126 - 104 + 44 + 37
C.79-42-165-42-36 +103-45-17

D.38+107 +25+32+26-104-144 +7

Answer: C.79-42-165-42-36 +103-45-17

Reference 1D:(24651) gTdd a1aaTd RepTH SR YUy gafd I1g Weg fAasT.
ICEISR LR IS ERICICAE] I YIS TH HRUI 51 BIsd! TR 311G,

A YIS
B.HIHTs
C.llsds

D. IS

Answer: D. IS



Reference ID:(31678) HERITA YT TdaR PIUId ¢RUT Sitele T8 ?

A SRR
B.3oH!

caddarsig
DRSIREEIE

Answer: B.B\_rl:"

Reference 1D:(30867) Identify the figure of speech in the following sentence: He is a walking dictionary.

A.Hyperbole
B.Euphemism
C.Metaphor

D.Apostrophe

Answer: C.Metaphor

Reference I1D:(17628) 44 47 1/8 + 50 U1 60% + 0.30 x 120 =

A.73
B.71.5
C.73.5

D.70.75

Answer: B.71.5



Reference 1D:(32922)

Answer:

Reference 1D:(23662)

Answer:

Reference 1D:(20238)

YR AP DHeieR DIV GIMTaR TR 3176 ?

Afasa g
B.feSRI g

C T/ T

D.Rgg= g

C. 1/ T

Greiterde! ST Reare gl siet i

A5 — g™
B.%d - q9
c.f@ad - it
D.3{IeT — 3T

c.f@aa - Wit

T HIUY AT IRIIRE Gigd iR 12 T 3. 3rer.
T dl SIdibe gaad! 311 5 o 1t arardl.

T dl Iolaibs gaddl 3T 1 o5, =Y. arerdl.

T dl Ioldidbe gaddl ST 7 T 1. aretal.

W @ Ioididhs daad! 30T 4 T A, TTerdl.

T dl Iodihs gaddl 3T 2 fop. =Y. arerdl.

ol AT TRTARA fobedl g 311872

A.8 fob =T,
B.9 fob .
C.7 & .
D.7.5 fob A,



Answer:

Reference 1D:(30386)

Answer:

Reference ID:(31679)

Answer:

Reference 1D:(28862)

Answer:

B.9 for .

Find the meaning of the word:: Parched

A.Saturate
B.Damp
C.Hydrate

D.Dry

D.Dry

ERTY IATd gaid e Adl DIurdt 3g?

AMHT

B. I
C. TRt
D.drdi

ORI ALKl

Convert the simple sentence to a complex sentence: He bought his uncles house

A.The house which belonged to his uncle was bought by him
B.He bought the house in which his uncle was living
C.He bought the house which belonged to his uncle

D.He bought that house in which his uncle lives

C.He bought the house which belonged to his uncle



Reference 1D:(23689)

Answer:

Reference 1D:(26024)

Answer:

Reference 1D:(18463)

Tiaie I1 Weare faeardf Teg ez,
ATTHTA

B.3{afdH

C. SRTHRITG

D.GIf&om

AU

TTeHAUD! IO <= HeTATdedl G ATeI?

AHRd

B.HIGHTTRMR

C. e =guan
D.gcT

PEINED

Gt Had dIe HIUA?

ASIRT 3R o ATell dag] HerH1g I el
B.3{Rdll & il 3101 GG G ATel.
C.3Rd Y& TG HeMIE o SR ATl
D.3Rd! Y HTeTaR GG o ATall.




Answer: D. 3Rl G HATedIaR UG o ATell.

Reference ID:(18717) AR Y3Y3 AL, 1 qreTid HIed DHIvIT?

A 1T TAHTIDH TS
B. Rt adwmeTs

C. AT ITHHDIS

D.JUl GaHMPHIS

Answer: A T IAHTBIS

Reference 1D:(21708) SRA=1,B=2,C=3,...Z=26, &R Td UH! SV T0T SRI&R 3TR?

A{D+O+G}={N+P+1+N}
BID+O+G}<{N+P+1+N}
C{D+O+G}>{N+P+I1+N}

DIN+P+1+N}={V+E +R +B}

Answer: B{D+O+G}<{N+P+1+N}

Reference 1D:(24905) Jeid e agga! Iy Teg fAasl.
Y Ho- oI SR

A UifSd
B. RIS
C.4HSid!
BRIIIL|



Answer: C.ywoial

Reference 1D:(18236) Dl 919 ST
Ug el d 98d
I I dAho
SR ded |

i oSt g9 e,

A.3fat
B. 3T

C.Aaay

D.UTaIGHad

Answer: A.&h?ﬁ

Reference 1D:(28889) Supply the correct tense of the verb in the sentence: She ___ all the
peas before | cut all the potatoes.

A.Had shelled
B.Shelled
C.shelling

D.Was shelling

Answer: A.Had shelled

Reference 1D:(18490) M S gldbad. gl dieTdid YA Sies.

A.HHUf
B.HId



C.3{PHPB PHadl
D.gHHP PHadl

Answer: RII]

Reference 1D:(19733) "I AT BTl A0 7 T Ui 31 Wichaud! BT o SNesan?

A 3{&RT: TN AT Urest Io)

B.gXIAT UTTaR S9dMT did SIS JTelt TSt
C.3FUf&QUUl QU Hid! Yuxil grit Aol
D.Tq: <1 81 9% Sedifes JS 3ffer Jear gror

Answer: A.31eRYT: T AR Uredt oy

Reference 1D:(28127) Find the meaning of the highlighted word in the sentence: The girls caper cost her a
twisted ankle.

A.Song
B.Mischief
C.Aggression

D.Humility

Answer: B.Mischief

Reference 1D:(26026) ST AT a7 WU aast RISl SRTHR ISR BT S,

A.29 S
B.29 St



C.27 Ja

D29H

Answer: B.29 9!

Reference 1D:(22597) SR $ 318 '+ 3T @ 3R '—', TR WU Fald HiaT gufd Hiurar 3mg 2

A152 @65 @ 32$74$105@ 93 $42$ 37
B48$17$52$35@ 156 @ 104 $ 34 $ 74
C19@15@42$45$36 @ 103 $ 42 $ 507

D144 @67 @52$35@56$ 104 @ 44 @ 13

Answer: C19@15@42$45%$36 @ 103 $42 $ 507

Reference 1D:(26029) WU DI TSHT 3Tt SSAT U Sfd@d .

ATH.TY. WHATYA
B.HIYG SIS
C.IqdH 3feit

D. gaxdrd dgi[un

Answer: C.gdry el

Reference 1D:(29624) Pick the Synonym for the word:
Captious

A.Critical

B.Undemanding



C.Charitable

D.Forgiving

Answer: A.Critical

Reference 1D:(22243) Wit Fafd HiaT ggfg HIordr 38 ?

A25+22+35-72-102 +83-45-27
B.48 +17 +25-32+ 126 - 104 - 44 - 71
C19-12+15-42-36 +103-45-107

D.44 -67+25+32+26-104 +44 + 13

Answer: D44 -67+25+32+26-104 +44 + 13

Reference 1D:(20492) WRS+U+N=54C+A+R=22, RP+L+A+Y=__ ?

A.53
B.54
C.55

D.56

Answer: B.54

Reference 1D:(25413) <y 1 YrearET Wikt ! I Tt faug i,
Acq +df

B.Gd + 381



C.<d + B!

D.qd + 1
Answer: C.qd + Bul
Reference 1D:(30640) Convert the following active to passive voice: The government is planning a new

road near my house

A.A new road by the government is being planned near my house
B.A new road was to be planned near my house by the government
C.A new road near my house is being planned by the government

D.Near my house a new road is being planned by the government

Answer: C.A new road near my house is being planned by the government

Reference 1D:(32918) YRAIA JYH Hee! Wicy JUGIAT DI 3Mg?

INCANEAR]

Answer: A DIABTI

Reference 1D:(24170) TTeaUd! BN T8 Y We3-aka- SRcIel Ueg 3Nesl.

A.3fciTeT



B.3ffafga
c.3ffag
D.3rcig

Answer: A.3(cifad

Reference 1D:(27619) Identify the figure of speech in the following sentence: The actor was seriously
funny.

A.Oxymoron
B.Apostrophe
C.Euphemism

D.Personification

Answer: A.Oxymoron

Reference 1D:(18998) QTdiTel YsaTal AN / JHN TR 3.
Eg =]

A%g

B.Tgeglfe
C. 3y

D. I3y

Answer: B.%@E@ﬁﬁs’

Reference 1D:(30105) Pick the right antonym for the word:
Gaiety



A.Woe
B.Fortune
C.Prosperity

D.bliss

Answer: A.Woe

Reference 1D:(19960) JaId faumran st =01 9 a1 U1 i

ST el JICUUT el IdT. ATd AT dhR U HIADH IS Tl dg]
OTAh i ATl U9 GR 19 Huary Hiffide. RO .........

A FHATT T 3T

B SIAUT=IT dis fGud Hrom=are gt fewrd el
C.4H Rl HH I

D.WR 1 &R ¢aet fag1s

Answer: A FdT B 3 gard

Reference 1D:(29878) Pick the right antonym for the word:
genuine

A.Fictitious
B.Actual
C.Authentic

D.Pure

Answer: A.Fictitious



Reference 1D:(20465) X I IR Jd [GRIe dl8 TR, a1 90 3i=T STdIdhe gosdl. A dl 70 3R IodIdhs o5l
HIT Al 180 3= g&&dl. AT al 90 3 Ioldidbs dabdl. Riac! dl Slaldbs 25 37 da5dl.
AT A1 PHIUTT RIS TS B IHT 3MTg?

ATfEH
B.aféfor

cgd

D.3™

Answer: ATfEH

Reference 1D:(18744) gataue! quf gaamdTeTdia ared HIvrd?

AH ST TR ST,
B.H1 IS AT Sl
c. ¥ fOprmaen Aa offe.
D.Hl &I fhrrge Sl

Answer: C. |t T iar \’rﬂ%

Reference 1D:(29143) Pick the right meaning of the highlighted word in the sentence:
Before Ravi went overseas, he went to the trouble of learning the indigenous
customs and languages of the countries he planned to visit.

A.An immigrant of some other place
B.Imported from someplace else
C.Native to a country or place

D.An alien person or thing

Answer: C.Native to a country or place



Reference 1D:(29397)

Answer:

Reference 1D:(24197)

Answer:

Reference 1D:(31671)

Answer:

Pick the right meaning of the highlighted word in the sentence:
For days she was morose, and he could do nothing to cheer her up

A.To be sad about something
B.Showing unreal excitement about something
C.To be happy about something

D.To be scared about something

A.To be sad about something

WU THRUM T8 S Xeq-alRa Sreel Ve el

AGeley
B.fAfga
C. 3ifaeradt

D. g

D. g

YR gafd 7S URe 3iifthg 3G

A faeit Sitdten
B.SIdIbId SiIUTadl
oX:CERSINIEN]
D.39s Sitdtell

oX:CERSINIEN]



Reference ID:(23916) Tttt faegrdf e sRIeR Set 3T,

A.Eﬁfx?ﬁq
B.Gald x JUllg
C.UTSH® x foipId

D.d9G! x 19

Answer: C.UTSH® x fdipid

Reference 1D:(19479) TYTd faeiedT AIRMRARTET IR aT0R 3Rcid aIdd GaTaiae 3icswl. e gul

A URART SHiddRE BRI HRATAT SfagrTd 318 gl

B. &= dlei-l digaR ferfgeiel ATd 318/ 8.

C ORI §9d 9 Il Idd T B e Jgd.

DTS & BT gaT 3d dk WIS cThdl T,

Answer: A MR ShidiaRE Bl HRATAT SfdgrITd e/ Jeid.

Reference 1D:(20719) WRDC=14,BALL=5 HAVE=72, RMADE=_7

A.45
B.44
C.46

D.47

Answer: C.46



Reference 1D:(31121)

Answer:

Reference ID:(17855)

—
i |
] -, — Fouety
et e il
) _\“_Hﬂ. b, B S
=, . F i
1 J Ty
= |
' S =
|- : ‘I o ]
A 5
h o
1 at,
- “',;
{ e, ™Y ]
- | -5
i LN
4 L )
| o
4 o
g
el )
i E
5 -
| &=
 td

FERISCIAT AT a1ore gfaeren foesr @reiaddr @otar mg?

A FAeToT

ERSINEI

c.fgmeit

D.3RTETe

ERSINEI

15 <A1 1/6 + 44 AT 25% <HT1200% + 0.25 x 60 =

A.41
B.41.5
C.38.75

D.39.5



Answer: D.39.5

Reference 1D:(21227) SR LETTUCE 8T ¥lsg TELTUEC 31d 3T COMPUTE T Ysg MOCPUET 3-d, &R
AVENUES BT g 3.

A.EVANUES
B.EVAUNES
C.EVANUSE

D.EVAUENS

Answer: C.EVANUSE

Reference 1D:(26030) YR g1 Hraar sirelt roft, gl for a-ucie TRafor QRadl.

A ToITd &
B.UITaRUT 10T o
C Sifaw fafaea
D.JafaRUT EREUT

Answer: A Tl TR0

Reference 1D:(24932) PENRIE R R R ARG
GeRT feai=an sraadiy ufig gium Aadaesiias

A SATRIS
B.UTf&fh

C g
D. {1



Answer: B.qTf?zW

Reference ID:(16866) SR @ 318 "HFTIHR' 3M1fOT $ 3] TONHR’, TR Wieiede! Jaid A1 gafg HIurdr smg?

A.39@5
B.4.25$1.5
C.31@4

D.2.75%1.5

Answer: A.39@5

Reference 1D:(26023) PIHRI FAIAT 7 DN Bared Siafaferdr glecadiey=h T SHTd fedt 3mg?

A.25
B.30
C.36

D.39

Answer: C.36

Reference 1D:(32926) SARYY gal Hed DIUN Idel?

A HERIUN UdTY
B.3ad 8
C.gars gam Rig
D e i

Answer: C.gaTs uamy Rig



Reference 1D:(19987) YR T Yeara AT Teq; 3feswr,

A.dulq

B.&MR

C.3{dds

D.Folul

Answer: A4l

Reference 1D:(32923) THd HTHRUT b TGU[H DI 3esdal STdl?

INCAINAL

B.dodte™
C.arorA

D JRe

Answer: c.arfor=

Reference 1D:(35164) TTeft feciear Tt 3 U A 3MTed ST 1 fe 3118, HIurdT U=l fie o 3ieswan?

A.Post And Village Kandwa
Varanasi — 221106

Uttar Pradesh

PH 0790750170



B.Post And Village Kandwa
Varanasi — 221106

Uttar Pradesh

PH 0790750170

C.Post And Vlilage Kandwa
Varanasi — 221106

Uttar Pradesh

PH 0790750170

D.Post And Village Kandwa
Varanasi — 221106

Uttar Pradesh

PH 0790750170

Answer: C.Post And Vlilage Kandwa
Varanasi — 221106
Uttar Pradesh
PH 0790750170

Reference 1D:(30359) Find the meaning of the highlighted word in the sentence: Seema who was
nimble on her feet, learnt to dance very quickly.

A.Strong
B.Light-footed
C.Soft

D.Lethargic

Answer: B.Light-footed

Reference 1D:(20746) oI UK = 116, GUY = 41113, dX¥ 712 &ﬁw

AMAC
B.MAI

C.GAB



D.MAE

Answer: A.MAC

Reference 1D:(28354) Find the meaning of the word:: Discern

A.Detect
B.Confuse
C.Overlook

D.Mix up

Answer: A.Detect

Reference 1D:(31674) 3fiferee I RBIIRT RITIH SRR YRATE dfga o9 3118,

A XTSRRI
B.3TR U
c.3fifsam

D.HERTY

Answer: A XTSI

Reference 1D:(26022) WIHTAUD! HIUTAT AP IJEATT B TR Thed (Wolde AP SIR) 3RO &
HRUGT T BIdT?

A ST IS I
B.aRATY IPF I
C 51 Sidc AP I



D. U it IS I

Answer: B.%GRHIUT@HG@W
Reference 1D:(19706) qa e 0T gU1 SxUaTe! I Uiy FHasT. Siaeredl QUM ............ TR AT
AT
B.4TS
C.aR
D.IR
Answer: A.TIT§
Reference 1D:(18209) q S aiig- Ha1e | dalgiH Xidos |

UTUgTg Urdes | eciies UHTET ||
Td JIMYRIAT Bl HTIUGTHE DIV THR aTuRdT 3ATa.

A YifaH

B.3(0gdl
C. Qgyalfad

D. &

Answer: D AftRF

Reference 1D:(21454) SR CLEMENTINE BT ¥sG ZIBJBKQFKB 3 d, T ENTAWAK 81 XTsg 3.

A.BKQXTXH
B.BKPXTXH

C.BKQYTYH



D.BJQYTYG

Answer: A.BKQXTXH

Reference ID:(20973) HTfddid R ST HR1: A, M, B, N, C, _,D,P,E

A.O
B.G
C.H

D.R

Answer: A.O

Reference ID:(23435) TIGR 1 eara YA Weg 3fieaw.
A.aTdt
B.UC
C.Tm

D.fagm

Answer: A.ardt

Reference 1D:(30132) Find the meaning of the highlighted word in the sentence: Lack of oxygen
may inhibit brain development in humans.

A.Frees



B.Clears

C.Hinder

D.Smooth’s

Answer: C.Hinder

Reference 1D:(25159) ?IH\BWW 3@, ST ATl S[ ST AT YD .

ATTET
B.CI&!

c.HN
D.5St

Answer: ATTET

Reference 1D:(26028) g uafarita WReomd e enfdr g exvarrdt URardd SEid UREe
TRT 3Tg.

A.TTiaRoT 31fOr 9 HATT
B.gd! faqm Harera
C. U8 AdER, 33 d JIdWd fadul HATeg

DACRIGRIUIGERIGREEINE]

Answer: A TgTaR0T 101 99 HATerd

Reference 1D:(31677) TTel U T e HI0T 3fgd? (1 U 2019 Isi)

AT, dGRREGRA



B.Xdd cIcT

C.dI9 $XaH I
D.RY ot

Answer: AT, JERRERA

Reference 1D:(21481) SRA=1,B=2,..M=13; 3TN =13,0=12, ... Z= 1, TR TTcid Jb! HIUII
Jg1g SRISR 3R ?

A{B+O+Y}>{F+L+Y]}
BB+O+Y}={F+L+Y)}
C{B+O0+Y}<{F+L+Y}

D{B+0+Y}={J+0+Y)}

Answer: C{B+O+Y}<{F+L+Y}

Reference 1D:(26027) ERTE Aftd “a7 TN TRIT (FRI) o ITIAT WTeades! BHI0TT Trelt irei?
A.1906
B.1957
C.1970

D.1857

Answer: A.1906



Reference ID:(17601) 955+595+475-(9.25-550-4.75)=_
A.20.1
B.21.50

C.20.6

D.21.25

Answer: D.21.25

Reference 1D:(27365) Identify the figure of speech in the following sentence: The clouds were like ice
cream castles in the sky.

A.Euphemism
B.Simile

C.Personification

D.Oxymoron
Answer: B.Simile
Reference ID:(27646) Pick the correct meaning of the highlighted idiom or phrase from the following:

Vivek was deep in thought when his professor said
a penny for your thoughts

A.A way of asking what one is thinking
B.To pay someone to get their opinion

C.To scold someone for not paying attention



D.To not concentrating on something

Answer: A.A way of asking what one is thinking

Reference ID:(17147) 985+26+335-(9.55-3.95-3.75)=__
A.14
B.13.95

C.13.5

D.13.4

Answer: B.13.95

Reference 1D:(21000) i did RBTH SR WRT: 2, 18, 41, 74

A8
B.5
C.7

D.6

Answer: B.5

Reference 1D:(27900) Find the meaning of the highlighted word in the sentence: Their instincts warned
them something was amiss.

A.Right



Answer:

Reference 1D:(19225)

Answer:

Reference ID:(18971)

Answer:

B.Suitable
C.Untoward

D.Perfect

C.Untoward

SIfaST UTUTH HR01. AT ATev=RTE Wietate! Siurar 3 9y 3g?
A TSR BIUTR HIH H3 UMl guf ol
B.AI® AT GIfde! ATar IHTT UHR R1baur

C.PIUdg! B BT 4T SIRTd Irsul

D IR BT THERR HI0]

A TESIRT BIUMR HTH HATURAT JUf HUT

WTeltd el TN / JHTY UbR NS,

BERG

AT dgey
B.$HYRY

c.fa
D.gg

B.HHYRY



Reference 1D:(17882) X BTY BT 10% =il 3T 3Tg. T Y 8T X g % T8 3TB.

A10
B.90
C.9.09

D.9

Answer: C.9.09

Reference 1D:(17120) Telidue! gafd JiaT Tafa Hiordr g2

A.350 d 80%
B.950 dT 1/4
C.0.35 x 900

D.900 T 2/5

Answer: D.900 dT 2/5

Reference 1D:(26021) 2019 Telt IR AT GHIAY FHoidt HRATAT Gaga & JIeieides! B gld?
AdEIS BId
C.ga3s
D.®w5d 3dTd

Answer: C.gaxs



Reference 1D:(24678)

Answer:

Reference ID:(31673)

Answer:

Reference 1D:(29370)

Answer:

TYTTe areaTd R ST HRUAR Wafd arg eg (asT.
Hich faTen 99 phifdp RSB Ufaay TUeR U HE ... HRUTTA 3T,

A.3ffHaTGH
B.3MTcha
C.gHeA

D. Xl

A 3fareA

TERIPTd ater R 378,

A HSYITS
B.AgTS

CITs

D.HEETSHR
A HSYIT

Pick the right meaning of the highlighted word in the sentence:
He had obtained all this wealth through deception

A.Resorting to fraud or trickery
B.Being honest about something
C.With hard work

D.With smart work

A.Resorting to fraud or trickery



Reference ID:(23943) Trctau! faearf rsar gaid! St e,

A.gaeroft x gerefoft

B.FTor x T
c.[dfAa x fReR
D . UTHIOI® x 3TUTHIOIG

Answer: c.fafFa x TReR

Reference 1D:(19452) WU ITFRRTET 3R aT0R 3gad ara HIuNd?

A. ST ST UTg ST dleTd sic dTda,
B.XFRTarT SiHd= Faft dierd sic arda.
C. 1 il dieTd dic T 9o 317G,

D.HERAAT WesldIdl Bicdl Joild dHRdd U&dh disld dic gleH Urgd g,

Answer: C. 1 il dieTd dic T ¥ad 317G,

Reference 1D:(34937) SR i HINd 432567 § 523476 318 , R 562189 § Wi fdd HNd B A?

A.653098
B.652098
C.653198

D.652189

Answer: A.653098



Reference 1D:(32921) HRATA 8I¥d Shidd S HIvT 3Ted?

A ferara et
B.UH. TY. dHM1YA

PRUGIRIEN

Answer: B.UH. TY. LSRR

Reference 1D:(16539) 80 =1 25% - 16/20 + 2.5 =

A22.2
B.21.45
C.21.7

D.22.1

Answer: C.21.7

Reference 1D:(27038) Find the meaning of the highlighted word in the sentence: His theory was ridiculed
and not accepted.

A.Appreciated
B.Mocked
C.Analysed

D.Respected

Answer: B.Mocked



Reference 1D:(31672) "Tes A9iie fdgr uRue (BNHS)=T @Rl &1 31Tg?

A fHftheR
B.HIGGIPH

C.J¢ gHiad

D.URdI

Answer: cic BW

Reference 1D:(20211) X 3 qd fe=ian dis ofig. < 90 3% Ioidichs aasdl. W1 dl 45 3 Ioididbs dadl. AT
¥ 180 3T T3, T dl 45 3iT Ildihe dosdl. Uac! dl STAlhs 90 37 gaadl. Tl
A HIUTAT fEAAT AE B IHT 38?2

Agd
B.Ufgg

C.aféro

D.3™M

Answer: D.3tR

Reference 1D:(32924) qUl 3 I MY JHISIT RATGAT i el il

A FETET Tieht
B.<HIfdal Bal
C.ufgar v arg
D.&1.3R. 3idShT

Answer: B.ifdaT W



Reference 1D:(27873)

Answer:

Reference 1D:(32927)

Answer:

Reference 1D:(27011)

Answer:

Pick the correct meaning of the highlighted idiom or phrase from the following:
Pranav decided not to bring up the topic of the fight with his
sister and to let sleeping dogs lie

A.To not disturb a current situation
B.To postpone a discussion with someone
C.To handle something or someone with utmost care

D.To make someone feel sorry for something they did or said

A.To not disturb a current situation

SRS IR delld A Y 313,

AN fSTegT
B.SIUqR fofegt
C. 3SR foTegT

D. el foregT

C.3STHR foTegT

Select the correct passive voice form of the sentence: You do not forget your
lesson.

A.Your lesson is not to be forgotten by you
B.Do not forget your lesson
C.Is your lesson being forgotten by you?

D.Forgetting the lesson is not done by you

A.Your lesson is not to be forgotten by you



Reference ID:(17374) 3.25+295+4.75-(3.25-6.55+4.75)=__

A.8.85

B.9.45

C.9.50

D.8.95

Answer: C.9.50

Reference 1D:(28608) Find the meaning of the highlighted word in the sentence: He was a man of few
words but many graphic gestures.

A.Obscure
B.Striking
C.Vague

D.Petty

Answer: B.Striking

Reference 1D:(30894) Identify the figure of speech in the following sentence: He was awfully lucky to
escape the crash without getting killed.

A.Personification
B.Euphemism
C.Oxymoron

D.Apostrophe



Answer: C.Oxymoron

Reference 1D:(26025) RS ol SaTaRUn IR &7 THTART JA¥bI=AT SId1aR01 IRGId &A1 STfddh
ST Al e 38 ?

A4
B.5
C.6

D.11

Answer: D.11

Reference 1D:(32925) YRAT Yoo tax Rad SRecye BIs 3R?

ADTS
B.fasrarsr

C.fameamg g
D.IXR

Answer: A.aaé

Reference ID:(31675) HRATT AU BT aiulobgﬂ B%ﬁlﬁ (Preambile) Haad 3g.

ABTST



B.gAACS fdhien

C.3iReferan

D.ZIRICS Wy 3t SHRDBTI

Answer: D.gARICS Ty 31t 3ARST

Reference 1D:(34910) SR 32 x54=172,27x23=100 30121 x 79 =200, R 64 x7 =7

A.140
B.135
C.142

D.78

Answer: C.142

Reference 1D:(29116) Fill in the blanks with the correct form of future continuous or
future perfect tense: By next Tuesday, | ten years in this office.

A.Will have completed
B.Completed
C.Am Completing

D.To be completing

Answer: A.Will have completed



Reference 1D:(28635) Pick the right idiom which fits into the sentence: The loss of his job was a
for him

A.Bolt from the blue
B.Black sheep
C.Besides the mark

D.All Hebrew

Answer: A.Bolt from the blue

Reference D:(24424) WTetdUe! TRl T8 &g AT uatg fAasr.

A GRIETST Siart TR efl T8,
B. i1 shTRiter gafur &l

C. 3% W Uda offg.

D. U1 WSS 4 Tl Ui fHesra.

Answer: D. U1 WSS 4 Tl Tiereg fHesra.

Reference 1D:(29851) Pick the Synonym for the word:
Indolent

A.Lazy
B.Bright
C.Perky

D.Dynamic

Answer: A.Lazy



Reference 1D:(31676) QiU B0 WAL G AP SFSIaIe dichleiis JfTat (Ad hoc committee on
the National Flag) o e gld?

A, . HUdrF!

B.SATERdd "g%
C.SI. INig ydIe

D.3{cTd] HURATH! &R

Answer: C.3l QI@I'Q Udlq

Reference 1D:(27392) Identify the figure of speech in the following sentence: The garden was begging for
water.

A.Oxymoron
B.Simile
C.Personification

D.Euphemism

Answer: C.Personification

Reference 1D:(32919) Jactet HIord 3Tfdies Ao 3mg?

AN
B.SHM
c.dfat

DdlE



Answer: D.EF\iJTS'

Reference 1D:(16512) JeTSUA, B, C, D, E 30 F g aF INHY THHBIhS die Ho- a9d Ted. alol
e YT diF ST0T 3Ted. E 81 PIUIdie! Il Qac! s9aidl ATgl. D 81 F &
STaidhs gUaT HHIBIAR 31Tg. E o1 RSIRT Sciall A 8T D =1 HUNTHHE 3178, C 8T F =
QISIRY 3178, E 3101 D o} STl Sfqadad sedHar Hoa1 faoft D a1 iRy divr
3 dia?

A.A 30T B
B.F 3MfUr B
C.A 3T C

D FITU! BIEIET gt

Answer: A.A 30T B



